
One of the most basic rules stu-

dents learn in science class is 

that oil and water donõt mix. No-

where was 

this lesson 

more pain-

fully 

learned 

than in 

Prince Wil-

liam 

Sound, 

Alaska, 

where the 

Exxon Val-

dez spilled 

several million gallons of crude oil 

into the water, damaging the pris-

tine environment and killing thou-
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What is the Algebra Equiva-

lent Of The Proverb? 

In Algebra, we say that òUnlike 

terms donõt combine; You can 

only combine LIKE TERMS.ó 

Have you ever heard someone talking about a relationship of two people using 

the phrase òoil and water donõt mix?ó 

What is trying to be conveyed is that this couple is not a good match. Certain of 

their qualities or personalities are incompatible.  

What Does The Proverb òOil And Water Donõt Mixó mean?   

Martin Weissman, Tamara Farber, 

Jonathan S. Weissman, &  Keith Monse 

sands of seabirds and wildlife.  

Many things in real life just donõt mix or 

are kept apart for various reasons.  

When shop-

ping in the su-

permarket you 

donõt put ap-

ples and or-

anges in the 

same plastic 

bag. 

The literal 

meaning of 

the proverb is 

clear. You can 

not õcombineõ oil and water. They will 

always be visible as distinct and differ-

ent. from each other. 
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What Are ôterms?õ 

 A term is an expression made up of num-

bers and/or letters connected by only mul-

tiplication and/or division. A term starts 

with either a  +  or a ñ sign. A  +  or ñ sign 

separates an expression into terms. 



1862 July 8, Morrill Anti-

Bigamy Law, signed by 

Abraham Lincoln.  

First basic federal legisla-

tion by the Congress of the 

United States that was 

designed "to punish and 

prevent the practice of po-

lygamy in the Territories of 

the United States". 

A nomial is a name that 

we give to an 

expression with 

terms. 

A trinomial has 

three terms. A 

binomial has 2 

terms. A mono-

mial has only 

one term. 

The word poly-

nomial is a gen-

eral name used for ex-

pressions that have 

many terms. What is 

many? For some, 2 

could mean a lot. So a 

binomial might also be 

called a poly-

nomial. 

We also use 

the prefixes 

mono, bi and 

poly with 

how many 

wives a man 

has. Monog-

amy means 

1 wife, big-

amy 2 wives and polyg-

amy means many 

wives. As with terms, 

Polygamy might also 

mean 2 wives. 

What Is A Nomial? 

Terms are combined, fac-

tors are multiplied. 7+x+y 

is an expression with 

three terms. 7xy is a term 

with three factors. Both 

terms and factors can be 

rearranged. 

7  +  x  +  y = y  +  7  +  x 

7xy = 7yx 
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Examples of terms: 

a is a term 

3a is a term 

3a2 is a term 

3a2 ñ 4 are two terms 

3a2 ñ 4a are two terms 

3a2 ñ 4a + 7 are three 

terms. 

What Are Like 

Terms? 

Terms with the same 

variable factors are 

called like terms. 2n 

and 3n are like terms, 

but 4x and 3y are not 

like terms. So too, 2x2 

and 3x are unlike 

terms. The both have x 

but the exponents are 

unlike. 

What Are some Ex-

amples of Terms? 

How are Terms Differ-

ent From Factors? 

What Are The Three 

Terms of 3a2 ñ 4a + 7 ? 

Weõll separate the expres-

sion just before each  +  or 

ñ sign.with a line. Prefix a  

+  sign at the beginning of 

the expression. 

     +3a2  |  ñ  4a  | + 7  

The First Term is: +3a2 

The Second Term is: ñ  4a  

The Third Term is: + 7 

What Does Descending 

Powers Mean? 

An exponent is a power. 

When an expression has 

many terms with different 

exponents, it is usually pref-

erable to rearrange the 

terms so that the term with 

the highest exponent is first. 

We then continue with the 

next highest exponents in 

the same way. If there is a 

constant term it goes last. 

Example: Rewrite in de-

scending powers: 

7a ð 4a3  +  9 +6a2  

ñ 4a3 +6a2 +7a +9 

The perimeter, P, of a rectangle is the distance around the 

rectangle. If we call the length L and the width W, then adding 

the 4 sides we get P = L  +  W  +  L  +  W. When we combine 

like terms we get P = 2L  +  2W 

If the Length=2 feet and the Width=4 feet, then  

P=2(3 ft)+2(9 ft),  

P=6 ft  +  18 ft (combine like terms) 

P= 24 ft.  

The perimeter, P, of a square is the distance around the 

square. If we call the length of each side, S, then adding the 

4 sides we get P = S  + S  +  S  +  S. When we combine like 

terms we get P = 4S  

 

If each side S=5 feet, then 

P = 4(5 ft) 

P= 20 ft 



Professor Weissman suggests that  

you combine like terms in a column. 

Letõs see why. 

Combine: 5x  +  7x  +  x  

Step #1 Put all the like 

terms in an x column. 

Step #2 Combine the 

coefficients. 

Step #3 Attach an x to the 

sum of the coefficients.  

Itõs easy to make a mis-

take with exponents. By 

using an x  column you 

can remember better that the sum 

and the terms combined are all like 

terms. 

Itõs especially easy to make a mistake 

when combining like terms with expo-

nents. Itõs very tempting 

to add the exponents.  

Consider this example. 

Combine: 6a2 ða2-7a2 

Step #1 Put these three 

like terms in an a2 col-

umn.  

Step#2 Combine the coeffi-

cients 

Step #3 The sum, like the 

three terms combined will 

also have an a2 and NOT a6. 

In sum, all entries in a column ôlook alike.õ 

Example #1 Simplify: 

5x ñ  (7xy ñ  2y)  ñ 2 ( 3x +  5yx  +  y)   

5x |  ñ  (7xy ñ  2y) |  ñ2 ( 3x +  5yx  + y) Step #1 Separate (terms) 

+5x |  ñ  7xy +  2y) |  ñ  6x ñ 10yx  ñ 2y Step #2 Simplify (each term) 

    +5x -7xy +2y   Step #3 Combine (in columns) 

  ñ 6x -10xy  ñ 2y   Note: ð10yx rewritten ð10xy 

Answer:  ñ 1x ð10xy    Note:  +2y  ñ2y = 0 

How Are Like Terms Combined? 

term.  

Your focus should be 

only on one term at a 

time. 

As you finish each term 

your credits are com-

bined in a new tran-

script.   

Simplifying a complex 

expression should be 

done the same way. 

Remember òSSCó 

Step #1 Separate 

the expression into 

terms.  

Step #2 Simplify 

each term. 

Step #3 Combine the 

results. 

How Is A Complicated Expression Simplified? 

When you need to sim-

plify a complicated ex-

pression think of your 

college experience. 

When you first start col-

lege and hear that you 

need to accumulate 64 

or 128 credits it sounds 

like a huge challenge. 

In reality, you only take 

about 16 credits each 
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What Are Missing Terms?

Recall the use of the digit 0 as a place-

holder in numbers. For example the digit 

0 in the number 1,023 means 0 hun-

dreds. 

When an expression only has one vari-

able, say x, and the terms are put in de-

scending order it is sometimes obvious 

that a term is missing. 

For example 3x  +  x3  +  7 when put in 

order looks like this: x3 +  3x +7 

The expression is missing an x2 term. We 

can show this missing term but we must 

use a coefficient of 0. 

So, with the missing term the expression 

looks like this: x3  + 0x2 +  3x +7 



The 22 year old also  con-

tributed to his retirement fun 

d $100 per month but for 

only 10 years.  

5. How much did he contrib-

ute each year? 

6. How much was contrib-

uted after 10 years when he 

stopped? 

7. What was the total con-

tributed. 

8. What was his retirement 

fund worth at age 65? 

Two examples of  a young 

investor are given. 

The 32 year old invests 

$100 a month until age 65. 

1.  How much did he invest 

each year? 

2. For how many years did 

he invest that amount? 

3. What was the total that 

was invested? 

4. What was the values of 

the investment at age 65? 

 

1. The 32 year old invested 

$1200 each year. 

2. He invested for 65-32=33 

years. 

3. The Total invested was 

$39,600  

4. The value of the account 

was $195,000 (see article) 

5. The 22 year old also put 

$1200 into his account each 

year. 

6. After 10 years $12,000 

was contributed. 

Why Does It Pay To Start Investing Early In Life? 
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7. According to the article, his 

retirement fund was worth 

more than $255,000. 

Note that even though the 22 

year old only contributed 

$100 a month for 10 years, 

his fund was worth more than 

the 32 year old who contrib-

uted $100 a month for 33 

years. 

The two examples prove that it 

is best to start investing for 

your retirement as early as 

possible. 
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